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(3 Hours)

N. B.(1) Question 1 is compulsory
(2) Solve an;r three from remaining five.
(3) Draw neat sketches wherever require.

(4) Assume suitable data if required.

1. Solve any four
(a) Give the features of LTE
(b) Explain various states in Bluetoqth system- £ :
(c) What are the three phases of wnelesé netwm“k deslgn? Explam &
(d) What are the basic middleware functions for WSN‘? E)épiam A AV L
(¢) What is RFID? Discuss different components of RFID and explam-how the 5
communication takes place aﬁmng the cdmpengﬁt : :

2. (a) Using the following data, for a GSM nctwork, estimate the vmce and data traffic 10
per subscriber. If\there. are 49 B’I‘S s,iteS, mléuhte ol e and data trafﬁc per cell.
. Subscnber usage per month 150 minutes - IO s
Days per month 24
Busy. hours | per day: 6
2 Ailocated spectrum"4 SMHZ
Frcquency reuse plan: 4/12"

..‘fj‘q";.zo e o o

o % {‘etworkroll out‘penod 4){8!31"5; (ST
SN S ;jNumber of packet calls per'sessmn (NPCS) 5

"Readmg tune between packet cails (Tr): 120s
o Packetasme (NBP). 480 bytes
“Time interval between two packets inside a packet call (Tin): 0.01s
Total packet servme holdmg time during one hour (Tio): 3000s
X Busy hour packet sessions per subscriber: 0.15
* 'Penetratlcn of:data subscribers: 25%

R, '!*'Data rate of each subscriber: 48 kbps
P Packet transmlssmn tune 10s
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4. (a)
(®)
5. (a)
(b)

(a)
(b) -
(c)
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Packet Session Time

Explain link budget analysis requtremeﬂt of \wxrel“ess netwbnk 2
Give detailed radio access network: pvervww Expla;'
B and RNC also draw UTRAN logical architecture
Explain HSDPA emphasizing ﬁsmmaty oblweéﬁve aﬁd' W it aéhre es
performance 1mprovement‘7

Why TCP and UDP protocols are unsuitable fot imp

transport protocols designed-for WSN, Ex"pla\ln any" one in detmi
Describe the model of Wireless Sensor Network. What arethe factors influencing
des1gn of ereless sensor’ netwofk\ ‘ :

Wnte short note
IEEE 802.16 ,
“Middleware sarchltecture of 'WSN
UWB technelogy :
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Duration: 3 Hours

Note:
1) Q.1 is compulsory. R O
2) Attempt any three questions from the remaining five questlons' ot
3) Assume Suitable data wherever necessary S alkia

QI. Attempt any four

a) Why LAN is placed close to outdoor umt‘?
b)

and less reliable to other subsystems ]lIS’tl
c¢) Explain different orbital parameters > - 5
d) Explain design considerations of Eafthstatlon
e) Differentiate window and ﬁ'ame

10

ns; 10

b) Wrth the help of block dlagram expia,’ _ fransmxt receive type of earth station 10

Q“S a) Explam SPADE system and\SCPC af FDMA 10
b) Exialam earth Echpse of satelhte w1th neat sketches. State & Derive the period & duration

. of echpj before &- after equmox Also explain the Sun Transit 10

Q6 Wnte shom note on any TWO 20

: a) Onboard connectmty with transparent processing
< b). VSAT and GPS
. - c) TTC ‘
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_— ' Paper / Subject Code: 52907 / Internet & Voice Communication ’ May ~20 'Cl
Sem-~ VI
F | cpsac
Duration: 3 hours Max marks: 80
Note the following instructions.

1) Question No.1 is compulsory.

2) Total four questions need to be solved.

3) Attempt any three questions from remaining five questions.
4) Assume suitable data wherever necessary, justify the same.

l.a  With an example define the physical address, the internetwork address (IP  §
address), the port address and application specific address. _

1.b  Explain how H.323 uses G.71/ G.723.1, H.225, Q.931 and H.245 to establish 5
and maintain voice (or video) communication.

l.c  Differentiate between subnetting and supernetting.

1.d  The following is a dump of a UDP header in hexadecimal format. 5
CB840035001C001C
1) What is the source port number? ii) What is the destination port number?
ii1) What is the total length of the user datagram? iv) What is the length of the
data? v) Is the packet directed from a client to a server or vice versa?

2.a  Explain the process of sending Email using message transfer agent. 10
2.b Discuss the DHCP operation when the client and server are on the same 10
network or on different networks.

3.a  Explain how TCP controls the congestion in the network using different 10
strategies.

3.b An ISP is granted a block of addresses starting with 150.80.0.0/16. The ISP 10
wants to distribute these blocks to 2600 customers as follows:
1) The first group has 200 medium-size businesses; each needs approximately
128 addresses. :
11) The second group has 400 small businesses; each needs approximately 16
addresses.
ii1) The third group has 2000 households; each needs 4 addresses.
Design the subblocks and give the slash notation for each subblock. Find out
how many addresses are still available after these allocations.

4.a Draw the general format of ICMP messages. Discuss the purpose of error- 10
reporting and query messages.

4.b  Explain quality of service (QoS) and how it can be improved using scheduling 10
techniques and traffic shaping techniques.

5.a  Discuss some characteristics of real-time audio/video communication. 10
5.b  Draw the IP header format and explain all fields in brief. 10
6 Write short note on: 20

a) FTP b) Control field or flags of TCP ¢) Messages used in RTCP
d) TCP Timers
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elsersr /(BS(AS} Paper / Subject Code: 52902 / Elective 1) Speech Processing {Hh‘f A ?—DM S

Time: 3 Hours

N.B: (1) Question No. 1 is compulsory. i D T A
(2) Attempt any Three questions from the remaining Flvg questmns
(3) Figures to the right indicate full marks. ;

N Ve

L. (a) Explain with suitable examples the production of fncatlves and stops

(b) How is the code book generated for CELP? A ]

(c) Explain concatenative synthesis. What is the advanta,g& of usmg sub-word A S Sy e
units? % : AL S0

(d) How can we differentiate between semlvowcls and nasals 011 the bas1§ Df thelr o M
formant values?

(e) Explain the meaning of intonation. Whag are the dlfferen_" rtthatlons used mgenerai T
speaking? 8 BN O % ‘ \‘,»[4} :

2. (a) How is STFT different from Fouuet Transf _"rm?' Explam the dxfference w;th respect

to the speech signal. o oA 7]
(b) Compare and contrast the pltch detectlon meth s b usmg Cepstral coefﬁclents and
LPC parameters. S e’ 7]
(c) Explain in detail how the. I@dlatmn at the hps aﬁect the resonance frequency of
the vocal cords. e, SR s e ady [6]
3. (a) Explain with proper equattons how Lmear Predxction Fllter for speech pred;ction
represents an all pole fi filter? e [10]

(b) Perform the LPC analys15 to detarm e the P cﬁctor cqefﬁcwnts gwen the "-
autocorrelanon sequen,ce as r,, (0) 25 1 : ".(2) 0 9“ [10] J

4 (a) Designa Homomorp‘hm processm& system for ﬁlt

of [10]
(b) Draw and. explam the schcrnatlc rgpr en;atzon of: the car Emphasize on the human
hearmg mechamsm >, s [10]
5.(a) What is the mgmﬁcanee of the Levmson Durbm; algonthm State the necessary
~equations involved durmg the executlon -of the algorithm for calculation of the
predlctochfﬁments R I [8]
() Eggpla‘m the apphcatlons of speech processmg in detail. [5]
(c) What a;rg themfferent spe@ch standards‘? Explain any one of them in detail [7]
Q. (a) Explam Bayes rule for class selectmn (6]
{b) Draw theblot;k schematlc“&fsr:a formant synthesizer. Explain the function of each
block, - [10]

fc) In lmgunstlcs wh*at«ls the mtzamng of prosody? (4]
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i )E‘f.‘r c/ Paper / Subject Code: 52903 / 2) Telecom Network Managemeg‘t_'*t‘ Hf\‘f 2 G]‘% FEL

(3 Hours) Ma Mflrksso ;

Note: 1. Question No. 1 is compulsory. ’
2. Out of remaining questions, attempt any three quesh(ms'
3. Assume suitable additional data if required. - ¥ S
4. Figures in brackets on the right hand snde mdit:ate full marks.\ ca

(A) Explain the TMN Conceptual model. o et Gt iR U ol )
(B) Write a short note on: Semi Formal and FormaL_nqtatmns TSRS v B Sy

(C) What encoding mechanisms are used by ASNI ? \ C(05)

(D) What is LAN emulation? ; >0 5 1409)

(A) State the additional capabilities of RMQN o (10)
capabilities can be used for an enterprnSe netuiork management iy

(B) Describe two tier and three tier netw_ management orgamzauon model X :'_ S 0)

7%, -»

(A) What is the difference between' accof' ing man”agement and perfonnange mqnagcment‘? (10)

(B) List and describe SNMP commhnds Wlth Sjmtax \ (10)
(A) What are the functional requ:re; nts ofNMS design'? S (10)
(B) What is ATM remote. momtormg? , (10)
(A) Describe the servlces offere,d by CM!SE s '-: : (10)
(B) What is policy baSed securlty management in SNM '-,'v3 ' (10)

(A) Describe three scenano that requlre (= ‘nt" qrralatmn techmques and explain clearly why (10)
each onqneed it. X

(B) Dcscnbe d1fferent thWQrk management model and s;andards (10)

......

Page 1 of 1

- _ SE3DE25E6A27B8E7164E07E6058289A9

s




